

## A NEW GENERATING FUNCTION OF CHEBYSHEV POLYNOMIALS

**Ghazi S. Khamash<sup>1</sup>, A. Shehata<sup>2</sup>**

Department of Mathematics, Al-Aqsa University, Gaza Strip, Palestine<sup>1</sup>  
Department of Mathematics, Faculty of Science, Assiut University, Assiut 71516, Egypt<sup>2</sup>  
[ghazikhamash@yahoo.com](mailto:ghazikhamash@yahoo.com) ; [drsnehata2006@yahoo.com](mailto:drsnehata2006@yahoo.com)

### ABSTRACT:

*The object of the present paper is to point out that this class of generating relations implies the explicit representation, the addition and the multiplication formulas, in addition to the usual generating relation for the Chebyshev polynomials.*

**Keywords:** *Generating functions, Chebyshev polynomials.*

### 1. INTRODUCTION

An extension to the framework of the classical families of Laguerre, Jacobi, Hermite, Chebyshev and Gegenbauer polynomials have been introduced in [2, 3, 4, 5, 6, 12]. Orthogonal polynomials and special functions with integral representations have been considered in the books [1, 7, 8, 9, 10, 11, 13].

This paper deals with some generalizations of the Chebyshev polynomials of one variable defined by the following generating Functions

$$\sum_{n=0}^{\infty} U_n(x) t^n = (1 - 2xt + t^2)^{-1} \quad (1.1)$$

The object of this note is to point out that one can make elementary verification of result (1.1) by means of any one of the following formulas of Chebyshev polynomials:

Explicit representation of the Chebyshev polynomials of the second kind are defined by the series

$$U_n(x) = \sum_{k=0}^{\lfloor \frac{1}{2}n \rfloor} \frac{(-1)^k (n-k)! (2x)^{n-2k}}{k!(n-2k)!} \quad (1.2)$$

The plan of the paper is the following. In section 2 generating functions involving the addition theorem of

Chebyshev polynomials are derived and multiplication theorem is discussed and will provide the matter of forthcoming investigations.

### 2. Generating functions for Chebyshev polynomials.

(A) Additional theorem

$$(1 + 2xt + t^2)^{\frac{n}{2}} U_n\left(\frac{x+t}{\sqrt{1+2xt+t^2}}\right) = \sum_{k=0}^n \frac{(n+1)!}{(k+1)!(n-k)!} U_k(x) t^{n-k} \quad (2.1)$$

For our purpose, we proceed to show that (1.2) is equivalent to (2.1). Putting

$$U = \frac{x}{\sqrt{1+2xt+t^2}},$$

$$v = \frac{t}{\sqrt{1+2xt+t^2}},$$

so that  $\frac{u}{v} = \frac{x}{t}$  and therefore

$$x = \frac{u}{\sqrt{1-2uv-v^2}},$$

$$t = \frac{v}{\sqrt{1-2uv-v^2}}$$

Thus the above addition theorem call be stated as follows

$$U_n(u+v) = \sum_{k=0}^n \frac{(n+1)!}{(k+1)!(n-k)!} \times U_k\left(\frac{u}{\sqrt{1-2xt-t^2}}\right) \left(\frac{t}{\sqrt{1-2xt-t^2}}\right)^{n-k} \tag{2.2}$$

(B) Multiplication Theorem

$$U_n(\mu x) = \sum_{k=0}^{\lfloor \frac{1}{2}n \rfloor} \mu^n \left(1 - \frac{1}{\mu^2}\right)^k U_{n-2k}(x) \tag{2.3}$$

In other words, we wish to show that the generating function (1.1) contains many properties of Chebyshev polynomials, the explicit representation, the addition formula, the multiplication formula, in addition to the usual generating function (1.1).

For our purpose, we may write(1.1) in the form.

$$(1-2xt+t^2)^{-1} = \sum_{n=0}^{\infty} U_n\left(\mu x + \frac{1-\mu^2}{2\mu}t\right) \left(\frac{t}{\mu}\right)^n \tag{2.4}$$

First, we notice that

$$(1-2xt+t^2)^{-1} = \left(1 + \frac{t^2}{\mu^2}\right)^{-1} \left[1 - \frac{2xt\mu^2 + t^2 - \mu^2 t^2}{\mu^2 + t^2}\right]^{-1} = \sum_{k=0}^{\infty} \frac{(-1)^k (n+1)_k}{k!} \left(\frac{t^2}{\mu^2}\right)^k \sum_{n=0}^{\infty} \left[2xt + \frac{1-\mu^2}{\mu^2}t^2\right]^n \zeta = \left[4\mu^2 - 4xt\mu^2(1-\mu^2) - (1-\mu^2)^2 t^2\right]^{-\frac{1}{2}} = \left[\frac{2\mu^2 - (1-\mu^2)t^2}{2\mu^2}\right] \sum_{k=0}^{\infty} \left(\frac{\zeta t}{2\mu^2 - (1-\mu^2)t^2}\right)^k = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k (n+1)_k}{k!} \left(\frac{t}{\mu}\right)^{2k} \left[2xt + \frac{1-\mu^2}{\mu^2}t^2\right]^n \times U_k\left(\frac{2x\mu^2}{\zeta}\right)$$

$$= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k (1)_{n+k}}{k!n!} \left(\frac{t}{\mu}\right)^{n+2k} \left[2\mu x + \frac{1-\mu^2}{\mu}t\right]^n = \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{(-1)^k (n+k)!}{k!n!} \left(\frac{t}{\mu}\right)^{n+2k} \left[2\mu x + \frac{1-\mu^2}{\mu}t\right]^n = \sum_{n=0}^{\infty} \sum_{k=0}^{\lfloor \frac{1}{2}n \rfloor} \frac{(-1)^k (n-k)!}{k!(n-2k)!} \left(\frac{t}{\mu}\right)^n \left[2\mu x + \frac{1-\mu^2}{\mu}t\right]^{n-2k}$$

$$= \sum_{n=0}^{\infty} \left(\frac{t}{\mu}\right)^n \sum_{k=0}^{\lfloor \frac{1}{2}n \rfloor} \frac{(-1)^k (n-k)!}{k!(n-2k)!} \left[2\mu x + \frac{1-\mu^2}{\mu}t\right]^{n-2k} \tag{2.5}$$

It follows therefore from (2.4) and (2.5) that

$$U_n\left(\mu x + \frac{1-\mu^2}{2\mu}t\right) = \sum_{k=0}^{\lfloor \frac{1}{2}n \rfloor} \frac{(-1)^k (n-k)!}{k!(n-2k)!} \times \left[2\mu x + \frac{1-\mu^2}{\mu}t\right]^{n-2k}$$

this is the explicit representation (1.2) for the Chebyshev polynomials.

Next, we have

$$(1-2xt+t^2)^{-1} = \left[\frac{(2\mu^2 - (1-\mu^2)t^2)^2}{4\mu^4}\right]^{-1} \times$$

$$\left[1 - \frac{4xt\mu^2}{2\mu^2 - (1-\mu^2)t^2} + \frac{\zeta^2 t^2}{(2\mu^2 - (1-\mu^2)t^2)^2}\right]^{-1}$$

Where

$$\begin{aligned}
 &= \sum_{k=0}^{\infty} \left( \frac{\zeta t}{2\mu^2} \right)^k U_k \left( \frac{2x\mu^2}{\zeta} \right) \left[ 1 - \frac{(1-\mu^2)t^2}{2\mu^2} \right]^{-(k+2)} \\
 &= \sum_{k=0}^{\infty} \left( \frac{\zeta t}{2\mu^2} \right)^k U_k \left( \frac{2x\mu^2}{\zeta} \right) \\
 &\quad \times \sum_{n=0}^{\infty} \frac{(k+2)_n}{n!} \left[ \frac{(1-\mu^2)t^2}{2\mu^2} \right]^n \\
 &= \sum_{n=0}^{\infty} \frac{1}{n!} \left( \frac{(1-\mu^2)t^2}{2\mu^2} \right)^n \sum_{k=0}^{\infty} (k+2)_n \\
 &\quad \times \left( \frac{\zeta t}{2\mu^2} \right)^k U_k \left( \frac{2x\mu^2}{\zeta} \right) \\
 &= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \left( \frac{t}{\mu} \right)^{n+k} \frac{(k+2)_n \zeta^{n+k}}{n!(2\mu)^{n+k}} \\
 &\quad \times \left( \frac{(1-\mu^2)t}{\zeta} \right)^n U_k \left( \frac{2x\mu^2}{\zeta} \right) \\
 &= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \left( \frac{t}{\mu} \right)^{n+k} \frac{(2)_{n+k} \zeta^{n+k}}{n!(2)_k (2\mu)^{n+k}} \\
 &\quad \times \left( \frac{(1-\mu^2)t}{\zeta} \right)^n U_k \left( \frac{2x\mu^2}{\zeta} \right) \\
 &= \sum_{n=0}^{\infty} \sum_{k=0}^n \left( \frac{t}{\mu} \right)^n \frac{(2)_n \zeta^n}{(n-k)!(2)_k (2\mu)^n} \\
 &\quad \times \left( \frac{(1-\mu^2)t}{\zeta} \right)^{n-k} U_k \left( \frac{2x\mu^2}{\zeta} \right). \quad (2.6)
 \end{aligned}$$

It follows therefore from (2.4) and (2.6) that

$$\begin{aligned}
 U_n \left( \mu x + \frac{1-\mu^2}{2\mu} t \right) &= \sum_{k=0}^n \frac{(2)_n \zeta^n}{(n-k)!(2)_k (2\mu)^n} \\
 &\quad \times \left( \frac{(1-\mu^2)t}{\zeta} \right)^{n-k} U_k \left( \frac{2x\mu^2}{\zeta} \right).
 \end{aligned}$$

this is the addition formula (2.2) for the Chebyshev polynomials, lastly we note that

$$\begin{aligned}
 (1-2xt+t^2)^{-1} &= \\
 &\quad \left[ \frac{2\mu^2 - (1-\mu^2)^2 t^2}{4\mu^4} - 4xt\mu^2 \left[ 4\mu^2 - (1-\mu^2)t^2 \right] + \zeta^2 t^2 \right].
 \end{aligned}$$

where

$$\begin{aligned}
 \zeta &= \left[ 4\mu^2 - 4xt\mu^2(1-\mu^2) - (1-\mu^2)^2 t^2 \right]^{\frac{1}{2}} \\
 &= \left( 1 - \frac{(4\mu^4 - \zeta^2)t^2}{R} \right)^{-1} \left( \frac{4\mu^4}{R} \right)
 \end{aligned}$$

where

$$\begin{aligned}
 R &= \left[ 2\mu^2 - (1-\mu^2)t^2 \right]^2 \\
 &\quad - 4xt\mu^2 \left[ 2\mu^2 - (1-\mu^2)t^2 \right] + 4\mu^4 t^2 \\
 &= \left( \frac{4\mu^4}{R} \right) \sum_{k=0}^{\infty} \left( \frac{(4\mu^4 - \zeta^2)t^2}{R} \right)^k \\
 &= \left( \frac{4\mu^4}{R} \right) \sum_{k=0}^{\infty} \left( \frac{(4\mu^4 - \zeta^2)t^2}{4\mu^4} \right)^k \times \\
 &\quad \left( \frac{2\mu^2 - (1-\mu^2)t^2}{2\mu^2} \right)^{-2k-2} \left( \frac{R}{2\mu^2 - (1-\mu^2)t^2} \right)^{-K-1} \\
 &= \left( \frac{4\mu^4}{R} \right) \sum_{k=0}^{\infty} \left( \frac{(4\mu^4 - \zeta^2)t^2}{4\mu^4} \right)^k \\
 &\quad \times \left( \frac{2\mu^2 - (1-\mu^2)t^2}{2\mu^2} \right)^{-2k-2}
 \end{aligned}$$

$$\begin{aligned}
 &\times \sum_{m=0}^{\infty} U_m(x) \left( \frac{2t\mu^2}{2\mu^2 - (1-\mu^2)t^2} \right)^m \\
 &= \sum_{m=0}^{\infty} U_m(x) t^m \left( \frac{4\mu^4}{R} \right) \sum_{k=0}^{\infty} \left( \frac{(4\mu^4 - \zeta^2)t^2}{4\mu^4} \right)^k
 \end{aligned}$$



$$\begin{aligned} & \times \left( \frac{2\mu^2 - (1-\mu^2)t^2}{2\mu^2} \right)^{-2k-m-2} \\ & = \sum_{m=0}^{\infty} U_m(x) t^m \left( \frac{4\mu^4}{R} \right) \sum_{k=0}^{\infty} \left( \frac{(4\mu^4 - \zeta^2)t^2}{4\mu^4} \right)^k \\ & \times \sum_{n=0}^{\infty} \frac{(2k+m+2)_n}{n!} \left( \frac{(1-\mu^2)t^2}{2\mu^2} \right)^n \\ & = \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \sum_{k=0}^{\infty} \frac{1}{n!} \left( \frac{(1-\mu^2)t^2}{2\mu^2} \right)^n \left( \frac{t\zeta}{2\mu^2} \right)^{m+2k} \\ & \times (2k+m+2)_n \alpha^{m+2k} \left( 1 - \frac{1}{\alpha^2} \right)^k U_m(x) t^m \end{aligned}$$

where

$$\begin{aligned} \alpha &= \frac{2\mu^2}{\zeta} = \sum_{n=0}^{\infty} \frac{1}{n!} \left( \frac{(1-\mu^2)t^2}{2\mu^2} \right)^n \sum_{m=0}^{\infty} \left( \frac{\zeta t}{2\mu^2} \right)^m \\ & \times (m+2)_n \sum_{k=0}^{\lfloor \frac{1-m}{2} \rfloor} \alpha^m \left( 1 - \frac{1}{\alpha^2} \right)^k U_{m-2k}(x) \end{aligned} \quad (2.7)$$

Now in driving (2.6) we have noticed

$$\begin{aligned} (1-2xt+t^2)^{-1} &= \sum_{n=0}^{\infty} \frac{1}{n!} \left( \frac{(1-\mu^2)t^2}{2\mu^2} \right)^n \\ & \times \sum_{m=0}^{\infty} \left( \frac{\zeta t}{2\mu^2} \right)^m (m+2)_n U_m(x) \end{aligned} \quad (2.8)$$

It follows from (2.7) and (2.8) that

$$U_n(\alpha x) = \sum_{k=0}^{\lfloor \frac{1-n}{2} \rfloor} \alpha^n \left( 1 - \frac{1}{\alpha^2} \right)^k U_{n-2k}(x)$$

this is the multiplication (2.3) for the Chebyshev polynomials and will provide the matter of forthcoming investigations.

## References

- [1] Andrews L.C. , Special Functions for Engineers and Applied Mathematicians, MacMillan, NewYork, 1985.
- [2] Dattoli G. , Integral transforms and Chebyshev-like polynomials, *Appl. Math. Comput.*, 148 (2004), 225-234.
- [3] Dattoli G. and Cesarano C., On a new family of Hermite polynomials associated to parabolic cylinder functions, *Appl. Math. Comput.*, 141 (2003), 143-149.
- [4] Dattoli G., Ricci P.E. and Paulucci P., The monomiality principle and the integral representation, *Internat. J. Appl. Math.*, 9(2002), 39-48.
- [5] Dattoli G., Ricci P.E. and Srivastava H.M., Two-index multidimensional Gegenbauer polynomials and their integral representations optics, *Math. Computer Modell.*, 37 (2003), 283-291.
- [6] Dattoli G., Sacchetti D. and Cesarano C., A Note on Chebyshev polynomials, *Ann. Univ. Ferrara Sez. VII Sc. Mat.*, XLVII (2001), 107-115.
- [7] Dattoli G. and Torre A. , *Theory and Applications of Generalized Bessel functions*, Arcane (Rome), 1996.
- [8] Ditkin V.A. and Prudnikov A., *Integral Transforms and Operational Calculus*, Pergamon-Press, Oxford, 1965.
- [9] Lebedev N.N., *Special functions and their applications*, Dover Publishers, New York, 1971.
- [10] Rainville E.D., *Special functions*, The Macmillan Company, New York, 1960.
- [11] Rivlin T.J., *The Chebyshev Polynomials*, J. Wiley and Sons, New York, 1974.
- [12] Saha B.B. , On a generating function of ultraspherical polynomials, *Matematica Hispanoame Ricana*, 39 (1979), 21-26.
- [13] Srivastava H.M. and Manocha H.L., *A Treatise on Generating Functions*, Ellis Harwood, NewYork, 1985